
1. Atomic orbital is monocentric, i.e.,

electron cloud extends around

the nucleus of a single atom.

2. It is less stable.

3. It has simple shape. -

4. Atomic orbitals are designated

as , , ,s p d  etc.

Molecular orbital is polycentric, i.e., 

the electron cloud extends around all

the nuclei of bonded atoms in the molecule:

It is more stable.

It has complex shape.

Molecular orbitals are designated

 as , , , , etc.



 
  

1. It is formed by linear combination 

    of two atomic orbitals when their  

    functions are added.

2. Its energy is less than the combining 

    atomic orbitals.

3. It increases the electron density 

    between the nuclei. It therefore 

    stabilises the molecule.

4. It has no nodal plane (plane 

    where electron density is zero)

5. It is symmetrical about 

    inter-nuclear axis.

It is formed by linear combination 

of two atomic orbitals when their 

wave functions are subtracted.

Its energy is more than the combining

atomic orbitals.

It decreases the electron, density

between the nuclei. It therefore 

destabilises the molecule.

It has nodal plane.

It is symmetrical about inter-nuclear 

axis and about a line perpendicular to it.

Designated by , , , etc.

 








